[ B=1 =% |

FEMZEDIRERNRE

ek RNEHF IS

4 THOFEERERFMERZENMNG



FEME (REANRRK)

8 SHEERERFMBRREAENYE

[#st2 GEREMR)

EX HE &% A3
EEI=EE
1R 5,212, 831
BEEH
1R 3,185, 168
TILFE—LAIE

1R 3,185, 168

TILFE—LBIR BIEME 1,00, #AERQEELZY) 1.00X. BETR+ 1,00, TILFE—LALE 0.40km 2.,
1= 2,983,522 BESZIERL 1.00=X, HaTHE 1.00ME, &#EH|E 1.00[E

BEERE EBBER 1.00X. RE GRETEZLN) 1.00=
1R 156, 646

BT EEE HTEEE 1.00=
1R 45, 000

KERERAEER
1R 2,027,663
KERE

1R 2,027,663

KERE SHEEE 1.00xX. Rk - BEFHA 24. 00t . HEHER 1.00xX. 4R 1.00K, HES1ER 1.00K
1R 1,789, 227

BEERE RE GRETEH L) 1,00
1R 193, 436

BT EEE HTEEE 1.00=
1R 45, 000




FEME (EREEE)

8 SHEERERFMBRREAENYE

[#zt3 (Emas |

B e £4 iR
EEINEE
1= 4,787,015
HRE
1= 3,352, 985
BEEXE
1= 8, 140, 000
EERME
1= 425,816
EEAME
1= 421, 600
HERE
1= 4,216
Z Dt R {E
1= 227,031
EREM
1= 652, 847
—REBEES
1= 347,153
BEREE
1= 1,000, 000
BIEEEME
1= 9, 140, 000
¥ E I EMHE
1= 9, 140, 000




